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Stretched vertically by a factor of 2.5 and shifted 9.8 units left and 8 units down.
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Questions on homework
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HW lottery

On the road to becoming.....

proficient at writing

4 functions of parabolos in
both standard form and
graphing form

proficient with
transformating
parabolas
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On the road to becoming.....

proficient at writing
functions of parabolos in
both standard form and

proficient with
transformating

parabolas graphing form

M

Standard form: y=ax’*+ bx + ¢
Graphing form: y=a(x—h)*+k <& <&

Factored form: y=a(x + b)(x + ¢).
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Graphing form of a parabola:

y=alx-h)’*+k




January 21, 2020

Graphing form of a parabola:

y=alx-h)*+k
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Graphing form of a parabola:

y=a(x-h)*+k
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Two objectives today

Transform a new function (y=x°)

ﬂ Create a mathematical model in
a situation that requires a
parabola.
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Next....
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At the skateboard park, the hot new attraction is the U-Dip, a cement
structure embedded into the ground. The cross-sectional view of the U-Dip
is a parabola that dips 15 feet below the ground. The width at ground level,
its widest part, is 40 feet across. Sketch the cross-sectional view of the U-
Dip, and find an equation of the parabola that models it.
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See your LCQ
from Friday

Assignment

2- 69-71,72a,73-74, 75a, 91

graph paper needed for #70
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